
First - order Logie

÷
Consider :

"

any object is a square Tft it  is a rectangle

with equal length sides
"

P ⇒ Q
P =

"

any object  D a square
"

← does + ↳ make sense ?

Q= ' '

.  -

"

=) need variables & predicates

⇒ Square ( x ) ⇐ Rectangle ( x ) A Equal sides ( x )

on a

predicate variable

additive
inverses

exist

!2! Quantifiers : F  =

"
there exists

"

m
F  

=

" for all
"

e

xrd HXFY : Xty=o

eg , Fx : 2x=4

tx : Even ( ax )
FALSE Fytx : X+y=o

fRmR Jg FX : X. 8=0 y=o



Exawplea
The sum of two integers is even Tft both # seven or both # odd
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